KBRACKING®

Simple solutions you can count on.

AEROGRI

D ® COMPONENT
DRAWINGS

KB Racking Inc.
1050 King St W ,Toronto, ON M6K 0C7
Phone: 1-888-661-3204

info@kbracking.com

www.kbracking.com Version 01



AEROGRID

COMPONENT DRAWINGS

BEND TABS FOR SUPPORT CLICK-IN

—SPLICE STUD WALL

—

[1.97in]
50mm

G00-GS-01-XX_V1

|
-@\ 1Ty

FRONT VIEW
\

XX

UNIVERSAL COMPONENT

TOP VIEW

A

E

\\—-——_//

DETAIL a

PART NUMBER

DIMENSION "XX"
IN

WEIGHT LB / KG

G00-GS-01-24_V1

24.0

3.10/1.40

GO00-GS-01-48_V1

48.0

6.19 / 2.81

GO00-GS-01-96_V1

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN [INCHES] mm
SURFACE FINISH:
TOLERANCES:

LINEAR: $0.015"

ANGULAR: +1deg

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF

KB RACKING INC. ANY

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF

KB RACKING INC. IS PROHIBITED.

26.0

DO NOT SCALE DRAWING

12.38 / 5.61

REVISION 1

KB RACKING®

AEROGRID
RAIL

TITLE

MATERIAL: DWG NO.

STEEL - G90 G00-GS-01-XX_V1 A3

WEIGHT: REFER TO TABLE SCALE: NONE SHEET 3 OF 14



AEROGRID

COMPONENT DRAWINGS

!—PA

[2.00in]
S5Tmm

UNIVERSAL COMPONENT

1/4-20 STUD X2" (SS) X2

ARLLLLLELLLLEL LR

G00-GS-02_V1

=
—

SECTION a-a

[6.00in]
152mm

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN [INCHES] mm
SURFACE FINISH:
TOLERANCES:

LINEAR: £0.015"

ANGULAR: *1deg

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF

KB RACKING INC. ANY

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF

KB RACKING INC. IS PROHIBITED.

MATERIAL:

STEEL - G90

WEIGHT: 0.57/0.26  Ibs/kg

DO NOT SCALE DRAWING REVISION 1

KB RACKING®

AEROGRID
SPLICE

G00-GS-02_V1 A3

SCALE: NONE SHEET 4 OF 14

TITLE:

DWG NO.



AEROGRID

COMPONENT DRAWINGS [3.30in]

B<—|

PVMODULE PLATFORM
PULL CLAMP SECURES AROUND

Ewl:i:Fj PV MODULE FLANGE
! 1/4-20 X 1.75" BOLT (SS) PV MODULE
PIERCING
TEETH (X3) FOR
SUPPPORT ' _ ELECTRICAL
CUCK-INTABS— || | [4.02in] AEROGRID PULL CLAMP BONDING
: 102mm G00-GS-08_V1
i
B <« - SECTlON DETAIL &
SUPPORT FEET o8
Ar—4A

i

[1.83in]
46mm

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN [INCHES] mm DO NOT SCALE DRAWING REVISION 1
SURFACE FINISH:

TOLERANCES:
KBRACKING®
ANGULAR: +1deg

PROPRIETARY AND CONFIDENTIAL TTLE
THE INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY OF
KB RACKING INC. ANY
REPRODUCTION IN PART OR AS A WHOLE

KB RACKING NG, 15 PROMBIED, 5 DEG. BOTTOM SUPPORT

MATERIAL:

G05-GS-03_V1

DWG NO.

STEEL - G90 G05-GS-03_V1 A3

WEIGHT: 0.509/0.231  Ibs/kg SCALE: NONE SHEET 5 OF 14



AEROGRID

COMPONENT DRAWINGS
C <—|
T —

c CSUPPORTS @ [ }
LICK-IN TABS— 3.60in
91Tmm

C =

SUPPORT FEET

G10-GS-03_V1

AEROGRID PULL CLAMP
G00-GS-08_V1

SECTION cc

PV MODULE PLATFORM

PULL CLAMP SECURES AROUND
PV MODULE FLANGE

[1.83in]
46mm

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN [INCHES] mm
SURFACE FINISH:
TOLERANCES:

LINEAR: £0.015"

ANGULAR: +1deg

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF

KB RACKING INC. ANY

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF

KB RACKING INC. IS PROHIBITED.

MATERIAL:

STEEL - G90

WEIGHT: 1.14/0.52  Ibs/kg

10 DEGREE COMPONENT

PV MODULE
PIERCING
TEETH (X3) FOR
ELECTRICAL
BONDING

DETAIL ¢

DO NOT SCALE DRAWING REVISION 1

KB RACKING®

AEROGRID
10 DEG. BOTTOM SUPPORT

DWG NO.

TITLE:

G10-GS-03_V1 A3

SCALE: NONE SHEET 6 OF 14



AEROGRID

COMPONENT DRAWINGS

[9.41-7.20in]
239.0-182.9mm

-

1/4-20 X 1.75" BOLT (SS)
1/4-20 X 0.5" WINDSHIELD STUD (SS)

FALIGNMENT NOTCH MARKS (X6) 1/4-20 X 0.375" BOLT (SS)

WINDSHIELD HOOK
/SUPPORT CLICK-IN TABS

D <«

G05-GS-04_V1

WSUPPORT FEET

f

SECTION b-p

[1.83in]

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN [INCHES] mm
SURFACE FINISH:
TOLERANCES:

LINEAR: $0.015"

ANGULAR: *1deg

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF

KB RACKING INC. ANY

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF

KB RACKING INC. IS PROHIBITED.

MATERIAL:

STEEL - G90

WEIGHT: 1.97/0.89  Ibs/kg

5 DEGREE COMPONENT

ﬁAEROGR

ID PULL CLAMP

G00-GS-08_V1

/ 1/4-20 PRESS FIT NUT (SS)

ﬂ/ 1/4-20 X0.75" BALLAST TRAY STUD (SS)

PV MODULE
PIERCING
TEETH (X3) FOR
ELECTRICAL
BONDING
DETAIL o
KB RACKING®
AEROGRID
5 DEG. TOP SUPPORT
Y G05-GS-04. V1 A3

SCALE: NONE

SHEET7 OF 14



AEROGRID

COMPONENT DRAWINGS

[10.19-13.05in]

G10-GS-04_V1

258.9-331.5mm ’%E/

1/4-20 X 1.75" BOLT (SS)\\Q

1/4-20 X 0.5" WINDSHIELD STUD (SS)

ALIGNMENT NOTCH MARKS (X8)

SUPPORT CLICK-IN TABS

SUPPORT FEET

1/4-20 X 0.375" BOLT (SS§)

WINDSHIELD HOOK*\

[3.14in]
80mm

E

AN

SECTION e«

[1.83in]
46mm

I}

#
—

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN [INCHES] mm
SURFACE FINISH:
TOLERANCES:

LINEAR: $0.015"

ANGULAR: *1deg

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF

KB RACKING INC. ANY

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF

KB RACKING INC. IS PROHIBITED.

MATERIAL:

STEEL - G90

WEIGHT: 2.37/1.07  Ibs/kg

10 DEGREE COMPONENT

AEROGRID PULL CLAMP
G00-GS-08_V1

1/4-20 PRESS FIT NUT (SS)

1/4-20 X 0.75" BALLAST TRAY STUD (SS)

PV MODULE
PIERCING
TEETH (X3) FOR
ELECTRICAL
BONDING

DETAIL ¢

DO NOT SCALE DRAWING REVISION 1

KBRACKING®

AEROGRID
10 DEG. TOP SUPPORT

DWG NO.

TITLE

G10-GS-04_V1

SCALE: NONE SHEET 8 OF 14

A3



AEROGRID

COMPONENT DRAWINGS

F <

(7 T N\
[1.14in]

1
|
29mm i
|
|
1
1

G00-GS-05_V1

UNIVERSAL COMPONENT

1/4-20 X 2" PRESS FIT NUT (SS)/

RAIL CLICK-IN TABS

.
NS

SECTION ¢

[1.97in]
50mm

—

.

O

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN [INCHES] mm
SURFACE FINISH:

TOLERANCES:
KBRACKING®
ANGULAR: +1deg

THE INFORMATION CONTAINED IN THIS A E R O G R I D
ACCESSORY BRACKET

DRAWING IS THE SOLE PROPERTY OF
DWG NO.

DO NOT SCALE DRAWING REVISION 1

TITLE:

KB RACKING INC. ANY

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF

KB RACKING INC. IS PROHIBITED.

' G00-GS-05_V1 A3

WEIGHT: 0.13/0.06 Ibs/kg SCALE: NONE SHEET 9 OF 14

STEEL - G90



AEROGRID

COMPONENT DRAWINGS

TOP VIEW (53.15in]
| 1350mm

UNIVERSAL COMPONENT

—————

[1.54in] |
39mm

[0.35in]

.82i
[1.82in] Do

46mm

FRONT VIEW

ACCESSORY BRACKET ATTACHMENT SLOT-

ANCHOR KIT L-BRACKET HOLE

I — T V

RAIL ALIGNMENT TAB

1/4-20 x 0.5" TOP SUPPORT STUD SLOT

G00-GS-06_V2

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN [INCHES] mm
SURFACE FINISH:
TOLERANCES:

LINEAR: £0.015"

ANGULAR: +1deg

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF

KB RACKING INC. ANY

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF

KB RACKING INC. IS PROHIBITED.

MATERIAL:

STEEL - G90

WEIGHT: 3.05/1.38  Ibs/kg

DO NOT SCALE DRAWING

TITLE

DWG NO.

SCALE: NONE

REVISION

KB RACKING®

AEROGRID
BALLAST TRAY

G00-GS-06_V2

SHEET 10 OF 14

2

A3



AEROGRID

COMPONENT DRAWINGS

1/4-20 x 0.5" TOP SUPPORT STUD SLOT (X10)

5 DEGREE COMPONENT

[95.83in]
2434mm

G05-GS-07_V1

[6.01in]

[1.03in]
26mm

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN [INCHES] mm
SURFACE FINISH:
TOLERANCES:

LINEAR: $0.015"

ANGULAR: +1deg

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
KB RACKING INC. ANY

REPRODUCTION IN PART OR AS A WHOLE

WITHOUT THE WRITTEN PERMISSION OF
KB RACKING INC. IS PROHIBITED.

MATERIAL:

STEEL - G90

WEIGHT: 4.74/2.15  Ibs/kg

DO NOT SCALE DRAWING REVISION 1

KBRACKING®

AEROGRID
5 DEG. WINDSHIELD

G05-GS-07_V1 A3

TITLE

DWG NO.

SCALE: NONE SHEET 11 OF 14



AEROGRID

COMPONENT DRAWINGS

1/4-20 x 0.5" TOP SUPPORT STUD SLOT (X10)

10 DEGREE COMPONENT

(95.83in]
2434mm

G10-GS-07_V1

[7.89in]
200mm

[1.67in]
42mm

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN [INCHES] mm
SURFACE FINISH:
TOLERANCES:

LINEAR: $0.015"

ANGULAR: +1deg

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF

KB RACKING INC. ANY

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF

KB RACKING INC. IS PROHIBITED.

MATERIAL:

STEEL - G90

WEIGHT: 6.27/2.85 Ibs/kg

TITLE

DWG NO.

SCALE: NONE

DO NOT SCALE DRAWING REVISION 1

KBRACKING®

AEROGRID
10 DEG. WINDSHIELD

G10-GS-07_V1

SHEET 12 OF 14

A3



AEROGRID

COMPONENT DRAWINGS

[1.85in] RAIL PRESS-FIT MAT LIP
\ 47mm |

[0.54in]
14mm

[2.84in]
72mm

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN [INCHES] mm DO NOT SCALE DRAWING REVISION 1
SURFACE FINISH:

TOLERANCES:
KBRACKING®
ANGULAR: +1deg

PROPRIETARY AND CONFIDENTIAL e
THE INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY OF
KB RACKING INC. ANY

REPRODUCTION IN PART OR AS A WHOLE

WITHOUT THE WRITTEN PERMISSION OF R U B B E R MAT

G 0 0 RB R 0 1 v1 KB RACKING INC. IS PROHIBITED.
- -
MATERIAL: DWG NO.
—

SBR, Thermoplastic Polymers GOO-RBR-O]_V] A3

WEIGHT: 0.20/0.09  Ibs/kg SCALE: NONE SHEET 13 OF 14




	Component Drawings Title Page_V1.pdf
	Slide Number 1


